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Note: The answer is for reference only, you need to understand all question. 

 

QUESTION 1 

Which statement is true about external BGP peering sessions? 

 

A. A peer-group must be defined as type external. 

B. A peer-as must be configured for each peering session. 

C. You must specify a local-address for each peering session. 

D. You must specify a ttl for each peering session. 

 

Answer: B 

 

 

QUESTION 2 

You want to determine what IP address and port number the router is using to NAT a particular connection. 

Which command will display this information? 

 

A. show services stateful-firewall flows 

B. show services session-table 

C. show services nat flows 

D. show services nat conversations 

 

Answer: A 

 

 

QUESTION 3 

Which statement is true about the area-range command? 

 

A. When the area-range command is used, the ABR generates a default route. 

B. You can have only one area-range statement per OSPF area. 

C. The area-range command can only be used to summarize internal routes. 

D. The area-range statement can be configured under an NSSA area to summarize external routes. 

 

Answer: D 

 

 

QUESTION 4 

You need to transport non-IP traffic between a branch office and headquarters. What is a valid connectivity 

option? 

 

A. MPLS Layer 3 VPN 

1



 2  

 

B. IPSec tunnel 

C. MPLS Layer 2 VPN 

D. IP in IP tunnel 

 

Answer: C 

 

 

QUESTION 5 

Exhibit: 

 

 

 

You work as a network administrator at  . You study the exhibit carefully. In the exhibit, what will be the result 

of a packet sourced from address 10.10.1.1 when the filter is applied? 

 

A. The packet will be counted and then discarded. 

B. The packet will be counted and then accepted. 

C. The packet will be accepted with no other action. 

D. The packet will be discarded with no other action. 

 

Answer: B 

 

 

QUESTION 6 

Which two features can you configure to optimize the processing of VoIP traffic? (Choose two.) 

 

A. H.323 proxy 

B. Compressed Real-Time Transport Protocol 

C. Multiclass Multilink PPP 

D. SIP compression 

 

Answer: BC 

 

 

QUESTION 7 
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Which two statements are true with regard to outbound BGP policies in a dual homed scenario? (Choose two.) 

 

A. To enforce strict primary/secondary outbound routing only default routes should be received from both 

your ISPs. 

B. To enforce load-sharing between both ISPs, when multiple routers are used, configurations should not be 

synchronized between them. 

C. To enforce strict primary/secondary outbound routing full BGP routes should be received from both your 

ISPs. 

D. To enforce load-sharing between both ISPs, when multiple routers are used, configurations should be 

synchronized between them. 

 

Answer: AD 

 

 

QUESTION 8 

You are configuring a router under [edit services nat]. Which command will configure the router to perform 

Network Address Port Translation (NAPT/PAT)? 

 

A. set pool my-pool port automatic 

B. set pool my-pool port overload 

C. set rule my-rule term 1 then translated overload 

D. set rule my-rule term 1 then translated port automatic 

 

Answer: A 

 

 

QUESTION 9 

Which two statements are true about scheduler maps? (Choose two.) 

 

A. A scheduler map controls the resources assigned to a specific queue. 

B. A scheduler map is applied before a multifield firewall filter. 

C. A default scheduler map is applied to each interface. 

D. A scheduler map is only needed on low speed interfaces. 

 

Answer: AC 

 

 

QUESTION 10 

Exhibit: 
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